F7 7TEELERGBEAS BEEHRRK

1. 200m# A L bT7AT IV

15 DHEET Result
JEifir B4 5 gk 24 L kn/h
1 AE —H K RLER 115521 62. 49
2 # B K L 1170615 61.99
3 VEIR  5L— K L 1276560 57. 32
4 Yem  BEK KL E 1376471 53. 45
2% —BT 5 0RkLA LD Result
JNEifr e == gk 24 A kn/h
1 U =iinh 1175206 64. 25
2 AR JEX =Alinh 117362 63. 37
3 B IEA rin e T 1276292 58. 57
2% —FBF Result
JNEifr e == gk 24 A kn/h
1 INEEES i e T 1275034 59. 83
2 Kl 3% & L 1275165 59. 19
3 K At & LT 127396 58. 08
4 &l B= = 135333 54. 00
5 Em RHE K EL T 14F0173 50. 80
3 Result
JEifr jE == gk 24 A kn/h
1 B K =iinh 1675011 44.97
2 M KL K AT 1970982 36.03
3 BL (e —F) I 2815760 25.03




F7 7TEELERGBEAS BEEHRRK

13 &+ Result
Nz EFAL Gk BA N km/h
1 i ¥ =110 127421 57.97
2 B S K R 1550176 47. 44
135 RAESH Result
Nz EFAL Gk BA N km/h
1 PEE FE— =110 117502 62. 60
2 BHA —ak 5 ) T 1175640 61. 86
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2. 500m¥ AL bSTAT IV
18 %7
Rosult
N fiz BEFL G BA N km/h
1 Pl & 38%051 47.30
9 B R 418211 43. 68
3 o kEE K FRLER 45%5975 39. 15
28 —BE S 5 0Ll Lo
Result
iz EFL bk BA N km/h
1 78 b= &Il 34FH8T74 51.61
9 A JE =G 3550862 50. 19
3 B EHR(r—1) wIlT 397982 45. 02
4 W OIERD e ] T 4070633 44, 30
5 gy E K R 5050098 35.93
3
Result
N fz BF4 G B AN km/h
1 il fES (m— k) =il 37Fb241 48. 33
2 TN & 49%5311 36. 50
3 U RS K R 5255100 34. 55
4 i O (a—R) &Il 88F)153 20. 42
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A
Py

BERE R

3. 1kmZA LT AT IV
13 DEE T
Result
JNEAS BELSER A B XA A km/h
1 HE —HE K R 145087250 52.56
2 F OHE oK e 14508F370 52. 40
3 wEils AL ok RERe 1431680570 46. 94
4 Yl EhC kR E 15318%5560 45. 80
25 — BT
Result
IS BEESER A B XA N km/h
1 K 3% =11 145137690 48. 71
9 B 2zpEih A 1451475410 48. 58
3 Kif 28 &l 1431786950 46. 45
4 Ll E= &Il 1431956840 45. 34
5 tH RE ok WL 15372955260 40. 18
150 RSB 1
Result
JEAT B’FE4 X gt B A I km/h
1 WEH FE— &Il 1451055050 51.06
2 HA —ik 5 ) T 1451256250 49. 66
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4. B EES

A
Py

BERE R

3 B (OPEN) /" 2 km
Rosult
JEfT B’EL X gk A M km/h
1 KL e (m—R) =1lih 2433550680 46. 21
2 #5 (OPEN) 2 km
Result
AL B"TL B A A km/h
1 B EHH(r—1F) Il 2474TH710 43.09
18 LF¥=2=7,2kn
Result
JEAE B"TL B A A km/h
1 I oK R 3452256800 35. 64
2 35 (OPEN) /" 3 km
Result
JEfT B’EL g B A M km/h
1 Kl ¥ =17 3455975550 45. 09
2 w ERIA e o] T 4431685400 42.19
3 K sk =110 4%4524F5290 40. 77
4 £l = =1lin 44336Fb570 39. 03
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18 D4EE Y 3km

Result
[t B4 X5 gt VA km/h
1 HF Sk H SR 3454955900 47.16
2 #* 5 oK R 34357F320 45.53
3 PEIR  5L— K R 4451555250 42.27
4 Y EBRK K RLER 44529F5970 40. 04
1% Z+=VU—1h,/3knm

Result
JEAE B"TL B A L km/h

1 I B 4437158830 42.30
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HAEHAANE—K
18 DEBRF
TkmAA LRSATIL 200mAALLSATIL
EF4 Eixith FCE% EF4 Eixih | o8
A —E | kESE®K [1 2 8 F 250 A —E |[KkE&EK| 11 7 521
x 1B kESHK [1 7 8 # 370 & 1B kRS 11 B 615
3kmfE NBIRE
EF4 Sk EaE 3
A —E | kKEEK 4 49 ¥ 900
x® 15 KRS 7> 57 # 320
18 REBF
TkmAA LRZATIL 200mAALLSATIL
EFA ikt AL 8% EF4 Eixih | 08k
7l fE— EWm |1 4 10 # 050 FaE #E— | B [ 11 # 502
BEARK —H ZEm |1 52 12 ¥ 250 BA —H | S@E® | 11 # 640
18 &F
500m%BA LkSA4 7L 200mAA LS A4T7 IV
EFLZ Sk L% EFAH Eoxih | 8%
A % 2l 38 Fb 051 Ap % S | 12 7 421
BN & 41 # 211 B e |kE=tk| 15 B 176
I')—k 3kmiEANEIRE TazZ7 2kmiEANEIRE
EFA kit AL 8% EFA B fxith AL 8%
EN BE 4 % 15 F 830 ¥ omE |kEst| 345 22 # 800
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28 —BBEFOH
TkmBALLRSATIL 200mBA LbSATIL
EFAH ki LR EFAH Eoxih | F08%
1 KE % Em (1 4 13 # 690 #® RE®A | & | 12 # 034
2| M RBA SEE (1 9 14 # 410 Kl 3 = | 12 # 165
2#f —BBF50RLLEDH
500m#ABA Lk5A4 7L 200mBA LLSATIL
EF4 kit FCE% EF4 Sk | o8
1 &% B= 2 34 ¥ 874 &% B= | S [ 11 # 206
2| BA EX = 35 ¥ 862 mA Ex | = |11 362
38 IMEEDOER
500mAA LkSA4T7IL 200mBA LbSATIL
EFA kit AL 8% EFA Eoxih | F08%
1| fREF K8 E L 49 F 311 ]EF Kk | = | 16 # 011
2| #L O =L 88 #» 153 L H3x | =W | 28 # 760
3 —BIFOH
500mAA LS4 T IL 200mAA LS AT L
EFA S ik EaE 3 EFAH Sixih | FOER
1| A #fIF KR 52 # 100 B FF | kR | 19 7 982
3 —EBEFOH
500m%A A LbSA4TIL 2kmfE NBIRE
EFAH ki LR EFA it AL 8%
1| W gk E L 37 ® 241 Il BER | Bl | 24 35 F 680
288 W
#Bh S
1 Bl 9=
2 = [ 3R




